
+Algebra 2/Trig            Trig Equations WS (6.3)   Name:______________ 

Solve on the interval [0, 2π). 

1) xx sin45cos4 2       2)  22 tancostan   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

3) xx sin31sin5        4) 03cot9 2 x  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

5) 0sinsin2 24  xx     6) 0csc2cscsec  xxx  

 
 
 
 
 
 
 
 
 
 
 



 
Find the general solutions. 

7) xxxx cos7cos3csccos 2      8) xxx cossincos2   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

9) 15cotcot2 24  xx      10) 0tansin2tan3    

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

11) 0sincos4cos2  xxx      12) xxx cos2cotcsc 22   


